Example 1: 
The pressure history of a water-drive oil reservoir is given below:
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The aquifer is under a steady-state flowing condition with an estimated water influx constant of 130 bbl/day/psi. Calculate the cumulative water influx after 100, 200, 300, and 400 days using the steady-state model.

Solution: 
Step 1. Calculate the total pressure drop at each time t.
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Step 2. Calculate the cumulative water influx after 100 days:
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Step 3. Determine We after 200 days:
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Step 4. We after 300 days:
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Step 5. Calculate We after 400 days:
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طريقة ثانية للحل
ممكن اجراؤها في حالة Δt  ثابتة فقط
We total =C [(Δpo/2)+Δp1+Δp2+Δp3+(Δp4/2)]×Δt
Δpo=
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